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Write tha correct option L.e. A, B, Cor Din the empty hox provldéd opposlte to zach part. Cuttlwg, ‘
erasing and over writing will not be awarded.

|f & petrol. engine does 40J of useful work for every 100] of energy suppﬂed tolt thenits efﬁciency ls
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 The area under of speed — time Qraph represenis D
A Veloclty - ' B. Acceleration . - G, Speecl D. Distance

The S.1 unit of specific heatis ........ ..ol
Which-of the following Js derived quantity? : . _ o
A Mass . B. Electric cUrrent C.Force -, .~ D.Luminous Intensity
Tha numberof sngniﬂcantﬁgure ln00570 Is I o - _ ' 7
A5 . B4 o &s D2

- Dynamics Is branch of physics WhICh deals with .. e .
A. Causé of motion  B. Sound | - C. Study ofsolids  'D. Bodies at rest

Rosghan is pulling a box on the floor w:th a force of 50N makmg an angle of GO" wﬁh the horizontai
The horizontal component of force will b8 ......ccceceiopmnee

AL TN ~ BSON : ,c.gsu . ... D:20N
The.:hmmtdlstanoe between iwo couples forces is .. - , |
A.Momentam B.Coupleamn .  C. Radlus D. Diameter

. The unit of gravitational constant "G is ................... : -
A Nm*Kg* B.N.Sec C.KgmSec? . D.KgmSec”

Which of the following have the sama‘uni‘t'? .
A. Speed & acceleration  B. Work & energy C. Torque & momentum D, Force & Pressure
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Time: 2 Hours 45 Minutes Section “B" - Marks; 32
Q.2 Answer éh{ EIGHT'-pans. All parts carry equal marks. | B
i, Whyareaisa derived quantity?- ,
il. Define any four branohes of physms
il st posalble for an ab]ect to be accelerating and at rest at the same’ tlme? Explam wnth example. -
iv.- Describe a situation in which the speed of an object Is constang whlle the velocity is not. |
SV Write two advantages and’ two dlsadvantages of friction.
vl - ‘Why a balloon filled wnth air move forward when its aif is released?

vii. A force of oON acls on a body and makmg an angle of 60° with horizontal. Find its vertical and
horizontal components. - . :

vili, Explaln why door handles are not put near hingas?
ix. Moon is attracted by the earth, why |t does not fall on earlh?

x. Can an object have different amounts of gravitational potenhal energy if it remams at th_e same
° elevation? : :

xl. .Why white clothes are preferred wearing in summer? Explam bneﬂy

Section “C” . - Marks: 21

Note: Attempt any THREE questuons All questions carry equa| marks | ' ’ .
Q3 a Prove graphically that S = Vit + % at’.

. b A car is movmg at a speed of 120 km / h. By applylng breaks the car comes to rest after cquering
a distance-of 50m. What is the deceleration of the car? | |
Q4 a Define Isolated system. Explain the law of conservation momentum.
b, Two hodles of masses 3kg and 5kg are tied to string which is passed over a pulley. If the pultey has
no friction, find the acceleration ¢ of the bodies and tensidn in the string. :
Qb State and expialn the law of universal grawtataon A!so show that the law obeys Newton's third law
of motion. ' ' ) ‘
b. The Hubble spdce-telescape orbits aarth-(mg = 6x 10”'Kg) with an orbital spee 7.6% 10% ms.
. Calculate its altitude above earth’s'surface. - '
Q6 a State Pascal's prmmpie and explaln with example
b. An 80cm long, 1.0 mm diameter steel guitar string must be tightened to a tension of 200N by

o turning the turning screws. By how much is.the slnng stretched?



